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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS MARARE e e finan

(a) In a capitalist economy, the level of
employment depends on

Q97 <R SRS Fos AR B 787
(i) level of aggregate demand

AWNEF SRR TR 8o[©

(Ti) level of aggregate supply
AT Qo T RS
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( 2)

(i) level of effective demand
AF TR AR 8RS
(iv) None of the above

S OIS A
( Choose the correct option )

(o o iR Sferea )
(b) Aggregate demand can be expressed as
AT sifRal et SR o1
() D=D, +D,
(i) D; >D,
(i) D; <D,
(iv) D=D, -D,

where (38) D = Demand (1f3)
D, =Consumer demand (CST®R 51f211) and

(&<¥) D, =Investment demand

(Rffczsi ifzm)

( Choose the correct option )

( = o= Az Sferear )

(¢) When money wage rate is unchanged,
the slope of aggregate supply function is

Qe a1 Tgfa TR SeRas, cofeu e
Q5 T4 HFR ]
(i) linear
ks
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(3)

(i) non-linear
w-Rs

(iti) curved
9%

(iv) Any shape
Rz s

( Choose the correct option )

(o= Rencor AR Sferea )

(d) According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

i o @ w15 afRedm 71
& =201 A
(i) inverse
et
(i) linear
R
(i) non-linear
w-3RT
(iv) both inverse and non-linear
ReAle o &-(3RF (iR
( Choose the correct option )

( = Resco AR Sferea )
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(4)

(e} Phillips curve determines

fRfEer @iz Ady 3

() employment rate

fRcmsm =/
(i) unemployment rate
R =
(iii) inflation rate
iRt 71
(iv) All of the above
@[T HIBIRLIZ0!
( Choose the correct option )

(= feesior AR Sferea )

() What is modified Phillips curve?
SNES RefeioR @31 2

(g9 What is assignment problem according
to Mundell?

TSR TS Tiftgej IR 10 2
(h) What 1is Dommbusch’s overshooting
model?

TP W SRgfeR wfECHT % 2

() Define international financial market.

WESfeF 8 IR AT 747 |

() What is open economy?

7& 9IS &2
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(S

2. Answer the following : 2x5=10
oo AR Ta fam :

(a) Differentiate between spot and forward
exchange rate.

o5 F FIE6 RNy 791 T N A<y
390

(b) Write two constituents of international
financial market.

HEEfoF 8 INRI o1 SoMe W i1

(0 What are the I-S components of
Mundell-Fleming model?

Teoe-@fiR Sk iy -RAEER TommER
o2 -

(d) Give two merits of Phillips curve as a
tool of economic theory.

AT TG AT o Rfere (¥R 761 84
foran |

(e) Define impossible trinity of Mundell-
Fleming model.

Teoa-@rfR SR Spiee @'e wige foan o

3. Answer any four of the following : 5x4=20
ok R viReE Ted o

(a) What are the factors which cause shifts
in the short-run Phillips curve?

@A Ree IFe IR R QIR
HfRTSTR IR QN A ?
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(6)

(b) Explain the concepts of rational
expectation in theory and practice.

ofks W IRTRT CFae (AfSS  domR
YIRICO1 1T 1 |

(c) What is adaptive expectation? Mention

three limitations of adaptive
expectation.

SfSEfEe eremrn &2 R SR fREel
TCEY 91|

(d) How is the exchange rate determined in
a free market? Explain briefly.

T& I&<e RAT1e 21 fove [y 301 =9, o0
T 40

(e) What are the relative importarice of
aggregate demand and aggregate

supply?
A vfw W ANEs @eee e
AT aFg F 2

(f/ How can the aggregate supply function
be derived?

ANAF @9 Fo (FEmed FER—RT T3 = 2
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(7))

4. Answer any four of the following : 10x4=40

o4 R wifRtR Teg i -

(@) Explain the purchasing power parity
theory. Discuss its limitations.

T HIOR O] ©OGCol A I WHR

ATAHOPR TG 47|

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

el SereTtel Jeded oS & Wi SR
R z@e od-@lRw s o awz-
wiee fe SO 0 41 |

(c) How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

R QR @re @ o Ereis
A& F=94F W4 T ? TR Nfsore Remertz
TS 4T |

(d) What do you mean by effective demand?
What are its determinants? Explain
briefly.

Afern oifzm Jferea & g2 WR SomeTz
&2 vyte T 0
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(8)

(e} Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

AHEE v W NfiT @] REe
S{folcEIs S (@] [AdRa F =, 909
39 |

() Explain the Dornbusch’s overshooting
theory.

TP & SRREL OGCH! AT I |

(g) Write a note on monetary approach to
balance of payments (BOP).

IR 3ol (BOP)R WIS 7iResiie @oiqe
o1 COIT ol |

(h) Explain the asset market approach to
determine exchange rate.

i 23 fAdRY IRIT o IwRI FRss
[N 40

* % %
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